
7 класс 

2.ЛИНЕНЙНОЕ УРАВНЕНИЕ С ОДНОЙ ПЕРЕМЕННОЙ 

1. 

  
_____________________                         ___________________________  

_____________________                         ___________________________  

в)  – х + 4,2 = -0,8                                  г) 16,2 – х = -13,5 

_____________________                       ___________________________  

_____________________                       ___________________________  

Ответ: а)___________б)___________в)____________г)____________  

2. 

 
а) ___ х = 16,      б) ___ х = - 10,     в) ____ х = 7,     г) ___ х = - 45, 

    х = 2;                   х = 5;                      х = -1;              х = -9. 

3. 

 
___________________________________________________________________

___________________________________________________________________

Ответ: t =__________________________________________________________  

4. 

 
__________________________           ___________________________ 

__________________________           ___________________________ 

__________________________           ___________________________  

 

__________________________           ___________________________ 

__________________________           ___________________________ 

__________________________           ___________________________  

Ответ: а)___________б)___________в)____________г)____________ 


